MOTO GUZZI STELVIO
REAR HUGGER

IMPORTANT - Inner screw on exhaust silencer must be replaced with M6 x 16mm
socket flange screw supplied. (See photo 1). Failure to do so will result in hugger being
damaged when suspension is under load.

Remove top hex head bolt from swing arm and fit bracket, use washer as spacer between
bracket and swing arm, replace original bolt, do not fully tighten. Undo top nut from lower
swing arm linkage and fit bracket as shown, replace nut, do not fully tighten. (See photos).

Slide hugger into position and fix to top bracket using two M6 x 16mm socket flange screws
with nylon washers. Do not fully tighten. The lower bracket fits to the outside of the hugger
using a M6 x 25mm hex head screw with steel penny washer. Fit through hugger and then
into flat threaded plate. Fit thick rubber washer between bracket and hugger. Adjust hugger
and hold in position whilst full tightening all fixings. For added security fit M6 nyloc nut
over protruding screw through threaded plate. Periodically check screws for tightness.

Contents:

3 X M6 x 16mm socket flange screws
1 x M6 x 25mm hex head screw

1 x M6 steel penny washer

1 x M10 washer (spacer)

2 X M6 nylon washers

1 x thick rubber washer

1 x M6 nyloc nut

2 X brackets

1 x threaded flat plate

Photo 1







